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When should you learn? Today or tomorrow?
As Rabbi Karish said in Daf Yomi Shabos parshas Beshalach:
“It Is Like Code.”

Google Appscripts Code:
function myFunction() {

if (You learn today)

else (M o)

(:2 0'Opw) Ny naIvd
(:L NLID MIWN) N2ILY NV
210 PAPL) X1 ANy D X NXa R arx 5y
( )

N3P 01 A7AR DAL [T XN DAL XN a7°2un 7 0l 2P MXNY P IR NI 12

7 oNuA PYIAY 1DI0 WA TTINA DX P0IART 93 LR an2R 1910 CNun TN DX D7PRa P2 NI
o2 P W AING A NPWL2 OX1 OTX P2 92 T YDW WM N2 PI0W poua Lumn i A RN

("7 PI@ Max °pa9) P PP A2 PDW P W AN NPNY OXT MY AR
(.20 DM) X232 TR0 MO AARA TNY XOX

(:2 0'Opw) Ny NaIvd
(:L NLID MIwN) N2ILY NV

(.10 1) NN NN

(.Iy NIAmMD mYwn') INXT INK
(.2' MIMN) NN NN

(:0"2p 2"22) 7 INK INKI

1ar1° 1 tells us about the D°MWwX:
(.33 P21PL) (M2 PAIPL) ;1 XAP)
And one more:
(.21 nbw) 1R PO 12D MW PR P T2 1w MNw? 3 ' nK

Keeping to the subject of j°>u po11? XoWw:
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The |NSWN 1NV in 2™ §'V0 " N'0 T'I' says that the
7DD DNNIL,ApY' NIAY 'R NN all hold that N2 is 112 T Y522, Based on this |
want to say there are two places in D"W that we see the greatness of not talking
on XD 7T
(.X27'2) D' 1'O1 awN'D XOJIN D NN
(X2 |'"2N') Yp I'N N2N 0N50 NIYWY X1p MK 12N21 XD NN wnn N2 W' ON
(.N> NIN2Y)(:XD |'aN'y) N2n D'YwN [p'n

The word 7127717

Rabbi Metankey said at the 70077 of Rabbi Gross on December 23 at the Shaarei Tzedek Shul in Chicago,
he quoted Rav Hirsh that the word 112777 in 712777 D 7°nNYN 17X seems strange. So Rav Hirsh says that it
means to teach Torah to Talmidim “very much” i.e. a qualitative rather than quantitative teaching teach
alot rather than teach to many). | want to suggest alternatively that this is the 777 of the D°X1n as we
find :

(:> 1) 2T M MY N

It is a M7°11 of many days. So you can say the word 112777 is going on the number of days, and it is
quantitative, on the other hand you can say w°71 27 72 X that it is going on the M7°11 which is only
one M7’11 which would again make it sort of more qualitative than quantitative, etc..

The conceptual O”win Nlion

Repeat Offense:

(. i) xvmM MY a1

(119 XnP) L1271 712 MW 77°A8 0K AU 10 X0 KT L2

VU X1 U X277 X7 712770 030 1277 BN 9K N7 KA X w7 .3
AT X IAK DI 92X N AT DI DIXRW 1 KX W
(:x2 Naw)

DO'XINNI O'NIN
Snamam 1

(.P 7T) (.12 Xnv)(:> )
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When X didn’t give an answer they forwarded the 7TPXw to X271
(wrn) 1
(uphn) .2

Two times in D"W that we had a NDXW sent to N ' was not answered so it got
forwarded to XND1 pnx' ;.
(. nNx)(:ra 0M)

Three places in 0”1 that the X701 is forced to redefine the terms of the NPPMN between 11111 "1
and vpo w:

(1) 1
(2Wwnaw) .2
(rrn) .3
According to 21 it is literal, it means exactly what it says. It is wnn:
(Xippaw) .1
(Lt pry) .2
(i) .3

Do the 011N have enough space?

| felt cramped in the main w17 1’2 so | am wanted to learn in the side room
where | have more space.

(:2 1) XN XM Dpaw X 0 PR xR L1
(.12p NAW) .11 > PRYN? PINT D1pR XN AKX O1PR2 °27 720 NNX 0UD X710 10K 727 KT .2

Well how much space do the 0> 7% need?

]"{7315 11D °27 K AKX TU2IX YR AW 110 KUK 1 DYX 770 "["I?’.TII? 1AW AN K 3
(.3 P217PU) AN TWW AW AW 1370 N 2 TMUPK 1 PXX 7N

Some 0’7170 that needed less space for a different reason:

(.¥ N2w) P> °XMa NAY 10 IR RPN AwBN PR 1T XN L1
(.71 72377) 121 22w 1TI009K TT MW MTT XTNRoN XA XM .2
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Say It 17X Owa:

We know that U "1 said:
(0 T973n) 121 0D APIRA X227 101K QWA 127 X230 92 11230 1 0K UK I
Yet 13 1 was upset at TuPK

N2 PRI 72 77X T2 2P0 19K N0 XTI PR R XPT XTI P 70 AXP22 P00 00 PR
72 2P 11199 D121 .11 10P YW1 IXANI D201 21N PR AT NPKT 1277 PR1owa RY XD XU
WY YU TPAW N7 N2T 901 a0 BT DX AW MY 12 178 7w DX Y WX 2202 770 K OTR

WY TWHX ANXK X X7 AW Sw 9NN 227 PUT W AW Qe XKOX Awn 10K 72 0K 0 W
(:1 2°%pw) X°71 PW MDA PUTe DM WM

Well *7°X 72 2pw’ "1 may have appeased 1311 "1, but what about v”p% w1?
(:712 MAIN2)(:1 NM2R) PR °% NINK X1 X031 120 20 NUAR 72 7K MY UK 277 701 70

Three places in 0”& where in one place it is brought D2 someone else, and in another place it is
brought w’p% w1 owa:

(v°P% w1 Dwa 1Y NAw) (17 12 DY 1 0w3A [0 XRP)Ioma A 0w Twnn L1
27 TnYN P2 0w NOXW 1D NPT N N .2

(WP w1 0WA .X2 1 7922) (30 1 Owa 0 P nbe)
PO 190N 0K SW INPY Pwow PRI P8 190 M 07 wIpna aw nrty .3

(w5 w1 Oowa .12 Aran)(TESX 1 owa .1 mana)
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It is rumored that the 1910 0N said to his D TNYN “If you say something | said in your own

name, it is ok. Just please don’t say something in my name which | didn’t say.”

(The good thing about this statement is whoever actually said it (if not the 7910 0NM) would not

mind it being said D21 someone else, so there is no room for error here)

Based on this introduction | would like to present two places in 0" where we find the

expression of My .... I 770 :
“If you say something | said in your own name,
PRWN 7% NN K21 XD 120 20 NUAY 772 K M2 K 2272 i 10
(:712 M) (:71 MIN)
Just please don’t say something in my name which I didn’t say.”

AR TPENXAWN 71 7272 727 PP XAX 227 2K pw mim D IX Xan 2227 M XU
NIAW >XXINA XOX I 28 12712 PX I 2277 RN INPIAKT XTI XDIU? XIX °27 770
J21 DA 730 72 712 1272 772 X X9 770 X 107072 D0 R

JD172 X XD X1 1Y " 0w NINK INX 172 Mo 0°191 12 Yonol "W
%270 %213 112 NN X5 195 XPNX 0N IR INX 1AM 7 PNRwNR X277 7°RR 1327 N
1XYW 0127 192 P71 0’72 P10 1A At t'wn

Parenthetically the word >?12 has two definitions:

“uan
1

Here it is with a
and it means mosquitos.

(:19 NAW)(.12 7110)
It could also mean to be familiar with someone
(.2p MNn2’) XN 72 AN 12 0P NX 9219 °NNAK 121 °07 1 INX
or with a subject

(.3 P27U) DPUAT DX AXTPX [7PMNRYA1 102 P2 127K 1 IRKM

A np>nn Averted:

and it means a pitcher. in two other places it is spelled without a

i

“uan
1

(.2'm ')'J'D\’JIT) N'™M2Nd TPO NOXK2 2PV' 1
He said if 1T¥ON 1 doesn’t say the XM in the name of |aNI' 1 that means that [aNI' M

argues. However we saw before with 'T'N 12 2py'

7123 P32 XK T2 2P0 19K N0 A XTI TPRwa DR KT XTI P2 A0 X2 P70 00 PR
72 2P 11199 D121 121 10P W IXANI D201 21K PR I PPKT 1277 PR1wa DRY KD XPUrT
WP YW PR N2 N2 9D 221 AN U DX AW MK 10 1728 7w DX TY WK 2202 79 K TR
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WP MWHX ANK AX X7 7w 2w AMNAw 990 PUTP W WY DU XOX TN T0RK 2 I P W
(:1 2°5pw) Xon 7Pw IINAWw PUTe YoM wm

| want to suggest that there is no NP121n here as it says in NN

TIAKN 712 .30 Y PAXK TAXRTY 019w 1272 DU 07K 19 M0 NUaw 12 bR 1 01w KUK K
XN DXUAY” 1727 030 IR BRI 7K PR PRI TR TAKIY YA TRIK 1010 X3 XY XIX oD
(:770 MN2) >NIPT 1K1 22N MO 17 117X N2 XIP°UNT 12 AP 7"2pn AXw Down 2173

Phew Npionn averted. (That was a close one)



